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1. What will be printed by the given query? SELECT LENGTH("WINNER");

% T b. 6

c.8 d.9

2. Label appear at the of the LOOP statement.

a.end b. beginning

c. anywhere d. Can not say

3.__ . - are stored programs, which are automatically executed or fired when some
events occur. i

z_l.-'P:fbcedure N b. Triggers

c. Collection £ \ S5 d. Transaction

‘4. Which of the SQL statements is correct?

a. SIEI:ECT Use,rna'rﬁe ;\ND Password FROM Users ; Esist:ECT Ysername, Fassyword BROM
. 4 ’

c. SELECT Username, Password WHERE Username =
d. None of these

‘user?’
5.A statement allows us to execute a statement or group of statements multiple
times. B
a.loop b. Condition A ysanliveg, s N
e BN\,
c.array d. procedure :'{@Q ?g& %
< %l
6. Which keyword is used to create a database? % e
— r'
a. CREATE b. SET \-a o/
O S/
¢.'SETUP d. LINK \ &/
N/
7. The term is used to refer a column. 15
a. Row b. Record
c. Tuple d. Attribute

8. What SQL clause is used to restrict the rows returned by a query?
a.AND b. WHERE
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¥ ‘pri'mary : b. secondary
-c. foreign e\ d. cross

;T&Q_Ehsé;ftl S d. views
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c. HAVING1 d. FROM

.9, "Which is not an aggregate function?

a. SUM(). b. POW()

c. AVG() E d. COUNT()

10. "CREAT’E TABLE" statement falls to which category of comand of MYSQL?

a.DMLge 7 b.DCL

: -g;TCIﬁ d.DDL

11. Whn:h Numeric Data type has the largest range?

a. Mediumint b. Smallint
c. Int d. Tinyint

12. The facility that allows nesting one select statement into another is called

a. nesting b. binding
c. subquerying d. encapsulating
13. Which of th erators d t perfi lative-val mpari [

3 ich of these operators does not perform relative-value comparisons W
a. = - == o Ge,
c. <= : d.>= /;;QS

Y
14. A view can refer to multiple tables via \g"
"a. UNION_~ b. JOIN \ S

“RC N D
c. GROUP d. SELECT \ y

15. Which keyword in the UPDATE statement is used to assign values to columns?
a. ASSIGN b. SET
c. MARK d. GET

16.- Which key.declares that an index in one table is related to that in another?

17. For which of -t_he following are triggers not supported?
a. delete O b. update

€

18. Which statement can be used for modifying the definition for an existing table?
a. ALTER b. Modified
c. SELECT d. FROM

19. Which command is used for the table definition in Mysql?
a. DESC table_name; b. DESC table_name
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c. DESC d. None of the mentioned

20. Which statement is used to remove a trigger?
a. REMOVE b. DELETE
c. DROP d. CLEAR

21. Which keyword is used to delete all the rows from the table?
a. TRUNCATE b. REMOVE
¢. DELETEALL d. CLEAR
22Wh1chof the following is not a keyword of MYSQL?

a. Select b. Top

c. Group d. Insert

23. Which of the following is correct syntax to open the Cursor?
a. SELECT cursor_name b. INSERT cursor_name
. c. UPDATE cursor_name d. OPEN cursor_name

24. Which of the following can add a row to a table?
a.Add b. Insert
c. Update d. Alter

25. Which of the following is not a valid aggregate function?
a. COUNT b. MIN
c. COMPUTE d. MAX
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